State Test Evaluation
Sample State Test

[image: ]
	Answers
	Explanation

	A
	

	B
	

	C
	

	D
	Correct Answer

	Objective
	1a

	Skill
		[bookmark: _GoBack]Basic (DOK 1):  Conduct a scientific investigation with accuracy and precision demonstrating safe procedures and proper use and care of laboratory equipment. 




	Date
	



[image: ]
	Answers
	Explanation

	F
	Correct Answer

	G
	

	H
	

	J
	

	Objective
	3b

	Skill
	Proficient (DOK 2):  Provide examples that demonstrate the interdependence of organisms and their environment (biotic and abiotic). 

	Date
	



[image: ]
	Answers
	Explanation

	A
	

	B
	

	C
	

	D
	Correct Answer

	Objective
	5a

	Skill
	Proficient (DOK 3):  Analyze and explain the molecular basis of heredity and the inheritance of traits to 

	Date
	



[image: ]
	Answers
	Explanation

	F
	Correct Answer

	G
	

	H
	

	J
	

	Objective
	2e

	Skill
	Proficient (DOK 2):  Explain the role enzymes play in regulating biochemical reactions. 

	Date
	



[image: ]
	Answers
	Explanation

	A
	Correct Answer

	B
	

	C
	

	D
	

	Objective
	4a

	Skill
	Basic (DOK 1):  Identify the function of basic cell organelles. 

	Date
	



[image: ]
	Answers
	Explanation

	F
	

	G
	

	H
	Correct Answer

	J
	

	Objective
	3b

	Skill
	Proficient (DOK 2):  Provide examples that demonstrate the interdependence of organisms and their environment (biotic and abiotic). 

	Date
	



[image: ][image: ]
	Answers
	Explanation

	A
	

	B
	Correct Answer

	C
	

	D
	

	Objective
	4c

	Skill
	Proficient (DOK 1):  Differentiate among the organizational levels of organisms. 

	Date
	



[image: ]
	Answers
	Explanation

	F
	

	G
	

	H
	Correct Answer

	J
	

	Objective
	5a

	Skill
	Proficient (DOK 2):  Analyze and explain the molecular basis of heredity and the inheritance of traits to successive generations using the Central Dogma of Molecular Biology. 

	Date
	



[image: ]
	Answers
	Explanation

	A
	

	B
	

	C
	Correct Answer

	D
	

	Objective
	6a

	Skill
	Proficient (DOK 2):  Draw conclusions about how organisms are classified into hierarchy of groups and sub groups based on similarities that reflect their evolutionary relationships (including body plans and methods of reproduction). 

	Date
	



[image: ]
	Answers
	Explanation

	F
	

	G
	

	H
	

	J
	Correct Answer

	Objective
	4a

	Skill
	Proficient (DOK 1):  Differentiate among types of cells and describe the functions and structures of major cell organelles including cell parts for mobility. 

	Date
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	Answers
	Explanation

	A
	Correct Answer

	B
	

	C
	

	D
	

	Objective
	1d

	Skill
	Basic (DOK 2):  Construct a graph

	Date
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	Answers
	Explanation

	F
	

	G
	Correct Answer

	H
	

	J
	

	Objective
	6b

	Skill
	Proficient (DOK 2):  Critique data used by scientists (e.g. Redi, Needham, Spallanzani, and Pasteur) to explain evolutionary processes and patterns. 

	Date
	



[image: ]
	Answers
	Explanation

	A
	

	B
	

	C
	Correct Answer

	D
	

	Objective
	2a

	Skill
	Proficient (DOK 1):  Explain and compare the types of bonds between atoms based on the subatomic particles and their arrangement; connect the importance of ions to biological process. 

	Date
	



[image: ]
	Answers
	Explanation

	F
	

	G
	

	H
	

	J
	Correct Answer

	Objective
	3b

	Skill
	Proficient (DOK 2):  Provide examples that demonstrate the interdependence of organisms and their environment (biotic and abiotic). 

	Date
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	Answers
	Explanation

	A
	

	B
	

	C
	Correct Answer

	D
	

	Objective
	4b

	Skill
	Proficient (DOK 2):  Differentiate between the types of cellular reproduction and the results of each type. 

	Date
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	Answers
	Explanation

	F
	

	G
	

	H
	Correct Answer

	J
	

	Objective
	5b

	Skill
	Proficient (DOK 2):  Utilize Mendel’s laws and Punnett squares to evaluate results and predict percentage outcomes of monohybrid crosses involving complete dominance, incomplete dominance, codominance, sex-linked, and multiple alleles. 

	Date
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	Answers
	Explanation

	A
	

	B
	

	C
	

	D
	Correct Answer

	Objective
	3c

	Skill
	Proficient (DOK 2):  Evaluate the significance of natural events and human activities on the biosphere. 

	Date
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	Answers
	Explanation

	F
	

	G
	

	H
	

	J
	Correct Answer

	Objective
	4c

	Skill
	Proficient (DOK 3):  Differentiate among the organizational levels of organisms. 

	Date
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	Answers
	Explanation

	A
	

	B
	Correct Answer

	C
	

	D
	

	Objective
	5c

	Skill
	Advanced (DOK 3):  Analyze a pedigree to determine unknown traits and genotypes in past or future generations. 

	Date
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	Answers
	Explanation

	F
	Correct Answer

	G
	

	H
	

	J
	

	Objective
	1c

	Skill
		Advanced (DOK 3):  Evaluate a question or hypothesis to develop an experimental design for a scientific investigation. 




	Date
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	Answers
	Explanation

	A
	Both types of cells have a cell membrane

	B
	Both types of cells have a vacuole

	C
	Both types of cells have a nucleus

	D
	Correct Answer (Plant cells have cell walls and animal cells do not.

	Objective
	4a

	Skill
	Proficient (DOK 3):  Differentiate among types of cells and describe the functions and structures of major cell organelles including cell parts for mobility.

	Date
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	Answers
	Explanation

	F
	ADP has to do with energy production

	G
	ATP has to do with energy storage

	H
	DNA stores genetic information in the form of nucleic acids

	J
	Correct Answer (RNA has the instructions that are sent to ribosomes to produce proteins which made up of polypeptides which contain at least 50 amino acids.)

	Objective
	5a

	Skill
	Basic (DOK 3):  Label the structure of DNA and explain the differences between DNA and RNA

	Date
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	Answers
	Explanation

	A
	50% are yellow and 50% are orange

	B
	Correct Answer

	C
	50% are yellow and 50% are orange

	D
	50% are yellow and 50% are orange

	Objective
	5b

	Skill
	Proficient (DOK 2):  Utilize Mendel’s laws and Punnett squares to evaluate results and predict percentage outcomes of monohybrid crosses involving complete dominance, incomplete dominance, codominance, sex-linked, and multiple alleles.

	Date
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	Answers
	Explanation

	F
	Tail length trait is not affected by rainforest, night activity, or feeding on fruits and leaves.

	G
	Broad feet trait is not affected by rainforest, night activity, or feeding on fruits and leaves.

	H
	Correct Answer (because they are active at night, they need larger eyes to see better in the dark)

	J
	Sharp teeth trait is not affected by rainforest, night activity, or feeding on fruits and leaves.

	Objective
	6d

	Skill
	Basic (DOK 2):  Identify examples that demonstrate the role that natural selection, speciation, diversity, adaptation, and extinction play in evolution.

	Date
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	Answers
	Explanation

	A
	Lipids are carbohydrates

	B
	Correct Answer

	C
	Nucleic acids are carbohydrates

	D
	Carbohydrates are classified into the three groups:  monosaccharides, disaccharides, and polysaccharides

	Objective
	2d

	Skill
	Proficient (DOK 2):  Compare and contrast the four major organic macromolecules in terms of structure, and function in living organisms.

	Date
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	Answers
	Explanation

	F
	More trees along the shore would not allow sedimentation to move

	G
	Correct Answer (dirt and debris must be moved as houses are being built)

	H
	Sunlight would have no effect on sedimentation

	J
	The amount of fish in the lake would no effect on sedimentation

	Objective
	3c

	Skill
	Proficient (DOK 2):  Evaluate the significance of natural events and human activities on the biosphere.

	Date
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	Answers
	Explanation

	A
	Only one variable should be changed in an experiment in order to clearly identify the cause of the results

	B
	Only one variable should be changed in an experiment in order to clearly identify the cause of the results

	C
	Correct Answer (using more worms would give more reliable data on the results of the spray)

	D
	The mass of either organism has no effect on the results of the spray.

	Objective
	1e

	Skill
	Proficient (DOK 3):  Analyze procedures, data, and conclusions to determine the scientific validity of research.

	Date
	




[image: ]
	Answers
	Explanation

	F
	Correct Answer

	G
	Grassland has water available to inhabitants so conservation of water or finding water through other means is not necessary

	H
	Deciduous forest has water available to inhabitants so conservation of water or finding water through other means is not necessary

	J
	Tropical rainforest has water available to inhabitants so conservation of water or finding water through other means is not necessary

	Objective
	3a

	Skill
	Advanced (DOK 2):  Evaluate the relationship between the adaptations of organisms to the biome in which they live.

	Date
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	Answers
	Explanation

	A
	Birds do not aid in mitosis (cellular reproduction)

	B
	Birds do not aid in photosynthesis (converting light energy into food energy)

	C
	Correct Answer (birds aid in pollination by transferring pollen grains from the male part of the flower to the female part of the flower)

	D
	Birds do not aid in transpiration (the movement of water from the bottom of the plant to the top of the plant and out through the stoma)

	Objective
	4d

	Skill
	Proficient (DOK 1):  Explain and describe how vascular and nonvascular plant structures and cellular functions are related to survival of plants.

	Date
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	Answers
	Explanation

	F
	Correct Answer (both organisms look very similar and suggest that they may have been closely related somewhere on the evolutionary tree)

	G
	It is undetermined by looking at the embryos that these animas belong to the same genus (they do not)

	H
	It is undetermined by looking at the embryos that these animals are native to the same geographic areas.

	J
	It is undetermined by looking at the embryos if these animals will grow into anatomically similar adults (they do not)

	Objective
	6b

	Skill
	Proficient (DOK 2):  Critique data used by scientists (e.g. Redi, Needham, Spallanzani, and Pasteur) to explain evolutionary processes and patterns.

	Date
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	Answers
	Explanation

	A
	With abundant food supply and no natural predators, they would not become extinct

	B
	With abundant food supplies and no natural predators, they would not develop shorter life spans.

	C
	Correct Answer (with abundant food and no natural predators, they would have food and the ability to reproduce without predation and the population would increase)

	D
	There would be no reason for the animals to change over time to evolve into a different species.

	Objective
	3c

	Skill
	Advanced (DOK 3):  Predict possible adaptations and impacts that will occur when an organism is introduced in a new environment.

	Date
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	Answers
	Explanation

	F
	Plant 2 is a clone of plant 1, so they are genetically identical meaning they have the same number of chromosomes in the cells of the leaf

	G
	Plant 2 is a clone of plant 1, so they are genetically identical meaning they have the same number of chromosomes in the cells of the leaf

	H
	Correct Answer (Plant 2 is a clone of plant 1, so they are genetically identical meaning they have the same number of chromosomes in the cells of the leaf)

	J
	Plant 2 is a clone of plant 1, so they are genetically identical meaning they have the same number of chromosomes in the cells of the leaf

	Objective
	4b

	Skill
	Proficient (DOK 1):  Differentiate between the types of cellular reproduction and the results of each type.

	Date
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	Answers
	Explanation

	A
	Wings red (25%), wings brown (25%), no wings red (25%), no wings brown (25%)

	B
	Wings red (25%), wings brown (25%), no wings red (25%), no wings brown (25%)

	C
	Wings red (25%), wings brown (25%), no wings red (25%), no wings brown (25%)

	D
	Correct Answer (Wings red (25%), wings brown (25%), no wings red (25%), no wings brown (25%))

	Objective
	5b

	Skill
	Advanced (DOK 2):  Predict the results of a given parental dihybrid cross.

	Date
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	Answers
	Explanation

	F
	Correct Answer (this is the process of translating codons to anticodons in order to obtain the correct amino acids to produce proteins)

	G
	This is the movement of organic substances in a plant

	H
	This is the copying of the nucleic acids

	J
	This is the production of the complimentary strand of RNA

	Objective
	5a

	Skill
	Proficient (DOK 1):  Analyze and explain the molecular basis of heredity and the inheritance of traits to successive generations using the Central Dogma of Molecular Biology.

	Date
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	Answers
	Explanation

	A
	This represents variations in the population

	B
	This is the frequency with which a particular allele appears in a population

	C
	This answer has nothing to do with survival in an environment

	D
	Correct Answer

	Objective
	6d

	Skill
	Basic (DOK 1):  Identify examples that demonstrate the role that natural selection, speciation, diversity, adaptation, and extinction plan in evolution.

	Date
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	Answers
	Explanation

	F
	Correct Answer (water clings to the side of the vascular tissue cells and is then “pulled” up by cohesion in the process of transpiration)

	G
	Sweat is released by sweat glands and has nothing to do with attraction to polar substances

	H
	Movement of ions is not related to polar attraction of substances

	J
	Pumping blood through the circulatory system is done by the heart muscle, not adhesion

	Objective
	2b

	Skill
	Proficient (DOK 2):  Utilize the properties of water to defend water as an essential component of living systems.

	Date
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	Answers
	Explanation

	A
	Dog #2’s DNA matches more closely than any of the other dogs to the puppy’s DNA

	B
	Correct Answer (Dog #2’s DNA matches more closely than any of the other dogs to the puppy’s DNA)

	C
	Dog #2’s DNA matches more closely than any of the other dogs to the puppy’s DNA

	D
	Dog #2’s DNA matches more closely than any of the other dogs to the puppy’s DNA

	Objective
	5c

	Skill
	Proficient (DOK 2):  Examine inheritance patterns using current technology.

	Date
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	Answers
	Explanation

	F
	This was one of Darwin’s observations

	G
	Correct Answer (this was not one of Darwin’s observations)

	H
	This was one of Darwin’s observations

	J
	This was one of Darwin’s observations

	Objective
	6c

	Skill
	Proficient (DOK 1):  Analyze research in relation to the contributions of scientists whose work led to the development of the theory of evolution.

	Date
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	Answers
	Explanation

	A
	Proteins are not addressed in the chart

	B
	They all contain salt, so there is no control group and this experiment would be flawed

	C
	Correct Answer (the chart is very organized to show that there are different contents in the agar to study which is best for growing the bacteria)

	D
	This chart does not address rates of growth of the bacteria.

	Objective
	1b

	Skill
	Proficient (DOK 3):  Formulate questions that can be answered through research and experimental design.

	Date
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	Answers
	Explanation

	F
	This allows the storage of energy

	G
	AMP does not exist

	H
	Correct Answer (as phosphate is removed from ATP, it creates energy that must be used immediately)

	J
	Adenine cannot be removed from ATP

	Objective
	2f

	Skill
	Advanced (DOK 2):  Explain how energy from ATP is made available for specific processes in an organism, such as in the sodium-potassium pump.

	Date
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	Answers
	Explanation

	A
	Ozone depletion does not affect the pH level in lakes

	B
	Correct Answer (acid rain falling into the lakes would increase the acidity of the lakes bringing the pH lower)

	C
	An increase in temperature does not affect the pH level in lakes

	D
	An increase in carbon dioxide levels in the atmosphere would not affect pH levels in lakes

	Objective
	2c

	Skill
	Proficient (DOK 2):  Classify solutions as acidic, basic or neutral and relate the significance of an organism’s pH to its survival.

	Date
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	Answers
	Explanation

	F
	Bacterium do not have a nucleus

	G
	Correct Answer

	H
	Paramecium does not have a cell wall

	J
	Yeast does not have chloroplasts

	Objective
	4a

	Skill
	Proficient (DOK 2):  Differentiate among the organizational levels of an organism.

	Date
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	Answers
	Explanation

	A
	1 out of 16 will be homozygous for eye and body color

	B
	1 out of 16 will be homozygous for eye and body color

	C
	Correct Answer (1 out of 16 will be homozygous for eye and body color)

	D
	1 out of 16 will be homozygous for eye and body color

	Objective
	5b

	Skill
	Advanced (DOK 3):  Predict the results of a given parental dihybrid cross.

	Date
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	Answers
	Explanation

	F
	Water is neutral and will have minimal effect on an acid

	G
	Correct Answer (when the calamine lotion-a base-is added to the bee venom-an acid-they work on each other to neutralize the pH and cause relieve of the pain)

	H
	If it is an acid, the pH needs to be increased to neutralize it

	J
	The lotion does not repair cells

	Objective
	2c

	Skill
	Proficient (DOK 2):  Classify solutions as acidic, basic or neutral and relate the significance of an organism’s pH to its survival.

	Date
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	Answers
	Explanation

	A
	Correct Answer (if each seed is different, the results could be different not because of the solution but because of the seeds)

	B
	This will not make the experiment better

	C
	This will not make the experiment better

	D
	This will not make the experiment better

	Objective
	1c

	Skill
	Proficient (DOK 2):  Apply the components of scientific processes and methods in classroom and laboratory investigations.

	Date
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	Answers
	Explanation

	F
	Correct Answer

	G
	Groundwater does not convert nitrogen

	H
	This does not happen

	J
	This does not happen

	Objective
	3b

	Skill
	Proficient (DOK 2):  Provide examples that demonstrate the interdependence of organisms and their environment (biotic and abiotic).

	Date
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	Answers
	Explanation

	A
	pH is a test of whether a solution is an acid or base

	B
	A pedigree is a family history of a genetic disorder 

	C
	Correct Answer (a karyotype is a picture representation of a complete set of an individual’s DNA and can indentify a person with XYY chrosomes)

	D
	Gel electrophoresis is a method of evaluating DNA but does not identify specific chromosomes

	Objective
	5c

	Skill
	Proficient (DOK 1):  Examine inheritance patterns using current technology.

	Date
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	Answers
	Explanation

	F
	Correct Answer (the stoma allow exchange of gases for photosynthesis when the guard cells expand and contract to open and close the stoma)

	G
	Minerals are taken in by the roots

	H
	Sunlight is captured in the chloroplasts

	J
	Sugars are made by the plant and travel through the phloem

	Objective
	4d

	Skill
	Proficient (DOK 1):  Explain and describe how vascular and nonvascular plant structures and cellular functions are related to the survival of plants.

	Date
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	Answers
	Explanation

	A
	More organisms do not cause changes in species over time

	B
	Correct Answer (greater genetic diversity allows animals to be able to adapt to changes in their environment and thus survive and reproduce)

	C
	Changing environments force species to adapt.

	D
	Species are not any more or less resistant to a changing environment if they have been in a stable environment

	Objective
	6c

	Skill
	Proficient (DOK 2):  Analyze research in relation to the contributions of scientists whose work led to the development of the theory of evolution.

	Date
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	Answers
	Explanation

	F
	Flowers do not absorb carbon dioxide

	G
	Flowers do not produce oxygen

	H
	Flowers to not carry out photosynthesis.  That happens in the leaves and stems where the green part of the plant contains chloroplasts.

	J
	Correct Answer (flowers are the reproductive part of the plant that contains the gametes (egg and sperm))

	Objective
	4d

	Skill
	Proficient (DOK 1):  Explain and describe how vascular and nonvascular plant structures and cellular functions are related to the survival of plants.

	Date
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	Answers
	Explanation

	A
	The pulse rates were not the same as the resting rates

	B
	6 oz of coffee caused a slight increase in the pulse

	C
	The pulse rates did not decrease after 12 oz of coffee

	D
	Correct Answer (the chart clearly shows that after 18 oz of coffee, the pulse rates had the greatest increase)

	Objective
	1g

	Skill
	Basic (DOK 1):  Communicate conclusions based on experiments in oral, written, and graphic form using appropriate terminology.

	Date
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	Answers
	Explanation

	F
	Correct Answer

	G
	

	H
	

	J
	

	Objective
	2d

	Skill
	Proficient (DOK 2):  Compare and contrast the four major organic macromolecules in terms of structure, and function in living organisms. 

	Date
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	Answers
	Explanation

	A
	

	B
	Correct Answer

	C
	

	D
	

	Objective
	6e

	Skill
	Proficient (DOK 2):  Differentiate among chemical evolution, organic evolution, and the evolutionary steps along the way to aerobic heterotrophs and photosynthetic autotrophs. 

	Date
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	Answers
	Explanation

	F
	

	G
	Correct Answer

	H
	

	J
	

	Objective
	4b

	Skill
	Proficient (DOK 2):  Differentiate between the types of cellular reproduction and the results of each type. 

	Date
	



[image: ]
	Answers
	Explanation

	A
	Correct Answer

	B
	

	C
	

	D
	

	Objective
	2g

	Skill
	Proficient (DOK 2):  Analyze and connect the roles of reactants and products in the biochemical process of photosynthesis and cellular respiration. 

	Date
	



[image: ]
	Answers
	Explanation

	F
	

	G
	

	H
	Correct Answer

	J
	

	Objective
	5d

	Skill
	Proficient (DOK 2):  Describe the characteristics and implications of both chromosomal and gene mutations. 

	Date
	



[image: ]
	Answers
	Explanation

	A
	

	B
	Correct Answer

	C
	

	D
	

	Objective
	6a

	Skill
	Basic (DOK 2):  List the taxonomic levels from broadest to specific and place organisms into the correct kingdom based on characteristics. 

	Date
	



[image: ]
	Answers
	Explanation

	F
	

	G
	

	H
	Correct Answer

	J
	

	Objective
	4c

	Skill
	Proficient (DOK 3):  Differentiate among the organizational levels of organisms. 

	Date
	



[image: ]
	Answers
	Explanation

	A
	

	B
	

	C
	

	D
	Correct Answer

	Objective
	1f

	Skill
		Proficient (DOK 3):  Recognize and analyze alternative explanations for experimental results and to make predictions based on observations and prior knowledge. 




	Date
	



[image: ]
	Answers
	Explanation

	F
	

	G
	Correct Answer

	H
	

	J
	

	Objective
	5d

	Skill
	Proficient (DOK 2):  Describe the characteristics and implications of both chromosomal and gene mutations. 

	Date
	



[image: ]
	Answers
	Explanation

	A
	

	B
	

	C
	Correct Answer

	D
	

	Objective
	5d

	Skill
	Basic (DOK 2):  Describe the characteristics and implications of both chromosomal and gene mutations. 

	Date
	



[image: ]
	Answers
	Explanation

	F
	

	G
	Correct Answer

	H
	

	J
	

	Objective
	3a

	Skill
	Advanced (DOK 2):  Evaluate the relationship between the adaptations of organisms to the biome in which they live. 

	Date
	



[image: ]
	Answers
	Explanation

	A
	

	B
	Correct Answer

	C
	

	D
	

	Objective
	5c

	Skill
	Advanced (DOK 2):  Analyze a pedigree to determine unknown traits and genotypes in past or future generations. 

	Date
	



[image: ]
	Answers
	Explanation

	F
	

	G
	

	H
	

	J
	Correct Answer

	Objective
	4d

	Skill
	Proficient (DOK 1):  Explain and describe how vascular and nonvascular plant structures and cellular functions are related to the survival of plants. 

	Date
	



[image: ]
	Answers
	Explanation

	A
	Correct Answer

	B
	

	C
	

	D
	

	Objective
	3b

	Skill
	Proficient (DOK 2):  Provide examples that demonstrate the interdependence of organisms and their environment (biotic and abiotic). 

	Date
	



[image: ]
	Answers
	Explanation

	F
	

	G
	Correct Answer

	H
	

	J
	

	Objective
	3a

	Skill
	Basic (DOK 2):  Identify the major biomes and their characteristics. 

	Date
	



[image: ]
	Answers
	Explanation

	A
	

	B
	

	C
	Correct Answer

	D
	

	Objective
	4b

	Skill
	Proficient (DOK 1):  Differentiate between the types of cellular reproduction and the results of each type. 

	Date
	



[image: ]
	Answers
	Explanation

	F
	

	G
	

	H
	Correct Answer

	J
	

	Objective
	2g

	Skill
	Proficient (DOK 3):  Analyze and connect the roles of reactants and products in the biochemical process of photosynthesis and cellular respiration. 

	Date
	



[image: ]
	Answers
	Explanation

	A
	

	B
	

	C
	

	D
	Correct Answer

	Objective
	3a

	Skill
	Proficient (DOK 2):  Compare and contrast plant and animal species, climate, and adaptations of organisms found in the world's major biomes. 

	Date
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	Answers
	Explanation

	F
	

	G
	

	H
	Correct Answer

	J
	

	Objective
	1a

	Skill
		Basic (DOK 1):  Identify and recognize the following in a scientific investigation: safe procedures (safety rules, chemical use and symbols), proper use and care of laboratory equipment (goggles, aprons, compound light microscope, slides, balance, beaker, thermometers, graduated cylinders and rulers). 




	Date
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8 Which of the following carries amino acids to the site of protein synthesis?

F  mRNA
G rRNA
H (RNA
J nRNA

9 The classification levels of three organisms are listed in the following chart.

Classification of Cats
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9 The classification levels of three organisms are listed in the following chart.

Classification of Cats

House Cat Lion Tiger

Animalia Animalia | Animalia

Chordata Chordata | Chordata

Mammalia Mammalia | Mammalia

Carnivora Carnivora | Carnivora

Felidae Felidae Felidae

Felis Felis Felis

domesticus leo tigris

‘Which statement describes the relationship among the organisms in the chart?

House cats and lions belong to the same species
House cats are more closely related to lions than to tigers.

House cats, lions, and tigers belong to the same class and family.

U 0N w >

House cats and tigers belong to the same genus but to different orders.
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Which of the following is a characteristic of both a prokaryotic cell and a eukaryotic cell?

Both cells lack a nucleus

Both cells undergo meiosis.

Both cells contain a mitochondrion.

Both cells contain genetic material

A research group has discovered that damselflies, a type of dragonfly, are being infected by a particular
type of aquatic protozoan. Both young and adult damselflies are not directly infected by the protozoan

but contract the infection from the prey they eat. The graph shows the percentage of adult damselflies
tfeiear At PSS
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A research group has discovered that damselflies, a type of dragonfly, are being infected by a particular
type of aquatic protozoan. Both young and adult damselflies are not directly infected by the protozoan
but contract the infection from the prey they eat. The graph shows the percentage of adult damselflies
infected by protozoans during the summer and early fall.

Occurrence of Protozoan Infection
in Adult Damselflies

5 Embanked
ponds

nCreekfed
ponds
T

81 816 91 ' 916 10/1 10/16
Date of Sample

Percent Infected (%)

Which of the following conclusions is supported by the graph?

Infection in embanked ponds increased during the sampling period
Protozoans were more common in creek-fed ponds than embanked ponds.

Protozoans reproduce more quickly in embanked ponds than creek-fed ponds

Tnfection in creek-fed ponds remained constant throughout the sampling period
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Date or Sample
Which of the following conclusions is supported by the graph?

Infection in embanked ponds increased during the sampling period.
Protozoans were more common in creek-fed ponds than embanked ponds.

Protozoans reproduce more quickly in embanked ponds than creek-fed ponds.

O N ®@ >

Infection in creek-fed ponds remained constant throughout the sampling period.

12 Scientists can determine similarities or differences between two species by preparing DNA gels from each
species and comparing which of the following?

Color of the segments
Pattern of the segments

Radioactivity of the segments

“TxTa ™

Relative width of the segments
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13 A diagram of a lithium atom and a fluorine atom is shown below.

Lithium and Fluorine Atoms

Outermost . 7
Electron

Lithium Fluorine

When lithium reacts chemically with fluorine, the outermost electron of lithium will transfer to which
numbered area in the diagram?
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When lithium reacts chemically with fluorine, the outermost electron of lithium will transfer to which
numbered area in the diagram?

14 Mycorrhiza is a symbiotic relationship between plant roots and fungi. The fungi grow around the plant
roots and increase the surface area for the absorption of water and nutrients by the plant. The plant
roots, in turn, provide nutrients for the fungi. What type of symbiotic relationship is mycorrhiza?

Commensalism
Competition

Parasitism

- T a T

Mutualism

15 A gamete would have an incorrect number of chromosomes due to an error in which of the following
processes?
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14 Mycorrhiza is a symbiotic relationship between plant roots and fungi. The fungi grow around the plant
roots and increase the surface area for the absorption of water and nutrients by the plant. The plant
roots, in turn, provide nutrients for the fungi. What type of symbiotic relationship is mycorrhiza?

Commensalism
Competition

Parasitism

- T a T

Mutualism

15 A gamete would have an incorrect number of chromosomes due to an error in which of the following
processes?

A Budding
B Fertilization
C  Meiosis
D Mitosis
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In guinea pigs, rough coat (R) is dominant to smooth coat (r). What is the expected percentage of
smooth-coated guinea pigs when a heterozygous rough-coated guinea pig is crossed with a smooth-
coated guinea pig?

0%

25%
50%
75%

The northern elephant seal was almost

hunted to extinction in the 1800s. By the late 1890s,
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16 In guinea pigs, rough coat (R) is dominant to smooth coat (r). What is the expected percentage of
smooth-coated guinea pigs when a heterozygous rough-coated guinea pig is crossed with a smooth-
coated guinea pig?

0%

25%
50%
75%

“ T e T

17 The northern elephant seal was almost hunted to extinction in the 1800s. By the late 1890s,
approximately one hundred seals were left, reducing the gene pool of the population. What will be the
consequence of this reduction?

Competition within the population will increase.
The surviving elephant seals will be better able to adapt.

Inbreeding will be less frequent among the remaining population.

U N w >

The elephant seals will be more vulnerable to environmental change

el b i P O TN A R U U
@ Unknown Zone | rotected Mode: On





image19.png
15526084_MSBioTBL.pelf

Norton - |[Search || (@ Sefewieb~ @ WenttySafe~

%5 &) Suggested Stes v ] Web Slice Gallery v &) Karsoke (@) ORNL 76 Mrs.Gay 5 WikiZila (5] Teschers' Domsin Home £ Grant Wrangler K-12 Scho.. ] Grant Program - myCamp... % The Bology Comer § eCampus Login g M. Tumer

i Favorites | @ http://www.mde.k12.ms.us/acad/osa/Science Pr... f - B - = @ v Pagev Safety~ Toos~ @~ &

HEHL G e/ eem - o F [ -

Competition within the population will increase.

The surviving elephant seals will be better able to adapt.

Inbreeding will be less frequent among the remaining population.

U N w >

The elephant seals will be more vulnerable to environmental change

18 Vascular plants contain a group of cells that carry water and minerals throughout the plant. These cells
function together to form which of the following?

An organism

A system

An organ

“TxTa

A tissue
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19 A condition is autosomal recessive. The pedigree shows the inheritance of this condition in a family.

O

S0 0 Lo
N

Sl=ke

m
o

Key
@ Affected female
M Affected male
QO Unaffected female
Unaffected male

‘Which of the following is the likely genotype of individual 1?

A ce
B Ee
c XY
b X®X*
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O Unaffected Temale

Unaffected male

‘Which of the following is the likely genotype of individual 1?

ce
Ee

20 When testing the benefits of a new fertilizer on the growth of tomato plants, the control group should
include which of the following?

Tomato plants grown in soil with no fertilizer
Tomato plants grown in soil with the original type of fertilizer
Tomato plants grown in a different type of soil with the new fertilizer

-z a

Tomato plants of different varieties grown in soil with the new fertilizer

21 Which characteristic distinguishes a plant cell from an animal cell?
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H Tomato plants grown in a different type of soil with the new fertilizer

) Tomato plants of different varieties grown in soil with the new fertilizer

Which characteristic distinguishes a plant cell from an animal cell?

The presence of a cell membrane
The presence of a vacuole
The presence of a nucleus

O N w >

The presence of a cell wall

1 GO ON
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22 Which molecule directs the synthesis of a polypeptide at a ribosome?

ADP
ATP

DNA
RNA

- T o m

23 The table lists the traits for fruit color where allele R exhibits incomplete dominance over allele R’.

Genotype | Phenotype
RR Red
R'R’ Yellow
RR’ Orange

@ Unknown Zone | Protected Mode: On
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23 The table lists the traits for fruit color where allele R exhibits incomplete dominance over allele R’.

Genotype | Phenotype
RR Red
R'R’ Yellow
RR’ Orange

Heterozygous fruit have orange phenotypes. What percent of offspring are expected to have an orange
phenotype if the parent plants are orange (RR’) and yellow (R'R")?

A 25%
B 50%
C 75%
D 100%
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B 50%
C 75%
D 100%

24 The spotted cuscus lives in Australia’s tropical rainforest region. This mammal is primarily active at
night and feeds on fruit and leaves. Which of the following traits would be found in the spotted cuscus?

Short tail

Broad feet

Large eyes

- TxT o m

Sharp teeth

Done @ Unknown Zone | Protected Mode: On
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25 A molecule with a structure composed primarily of amino acids would be classified in which of the
following groups?

Lipids

Proteins

Nucleic acids

o N w >

Carbohydrates

26 A community is concerned about the water quality of a nearby lake. Increased sedimentation in the lake
is endangering the native habitat. The increased sedimentation is caused by which of the following?

F  Trees planted along the shore of the lake
G Construction of homes along the lake

H The amount of sunlight on the lake

J The amount of fish in the lake
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27 Some students wanted to test which acid was most effective at preventing hornworms from feeding on
tomato plants. The students sprayed salicylic acid on one group of 15 tomato plants and jasmonic acid
on a second group of 15 tomato plants. Then students placed one hornworm, with a mass of 30 to 35 mg,
on each tomato plant. The students recorded the mass of the hornworms after one week. The table shows
the results of their investigation.

Effects of Acid-Sprayed Tomato
Plants on Hornworm Growth

Salicylic | Jasmonic
Acid Acid

Mean
Hornworm
Mass (mg)

‘Which of these should the students do to make their conclusion more scientifically valid?

They should spray e

ch tomato plant with more than one acid
They should place different kinds of worms on the tomato plants
They should place more than one hornworm on each tomato plant.

They should determine the average mass of the tomato plants along with the mass of
the hornworms.
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C They should place more than one hornworm on each tomato plant.
They should determine the average mass of the tomato plants along with the mass of
the hornworms.

28  Animals like the kangaroo rat have the ability to obtain water through metabolism of food. This
adaptation helps the kangaroo rat survive in which biome?
F Desert
G Grassland
H  Deciduous forest

Tropical rainforest
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29 The following shows a species of Hawaiian honeycreeper and the flowers on which it feeds.

The flower shape allows the bird to aid which process required for plant survival?

Mitosis

A
B Photosynthesis
€ Pollination
D

Transpiration

30 The diagram illustrates an embryonic stage of two organisms.
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D Transpiration

30 The diagram illustrates an embryonic stage of two organisms.

Embryos

Bird Reptile

‘Which of the following can be determined by observing the embryos shown in the diagrams?

The organisms share a common ancestry.
The organisms belong to the same genus.
The organisms are native to the same geographic areas

‘The organisms will grow into anatomically similar adults.
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F The organisms share a common anceslry.
G The organisms belong to the same genus.
H  The organisms are native to the same geographic areas

he organisms will grow into anatomically similar adults.

The common brushtail possum is a marsupial native to Australia. This possum was introduced to
New Zealand where it had no natural predators and had an abundant food supply. Which of these
likely occurred a few years after the introduction of this possum to New Zealand?

The possums became extinct

The possums developed shorter life spans
The possum population grew to a large size.

The possum population evolved into a different species
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€ The possum population grew to a large size

D The possum population evolved into a different species

32 A diagram of two strawberry plants is shown.

Plant 2 is produced from Plant 1. If the leaf cells of Plant 1 have 56 chromosomes, how many
chromosomes will be found in the leaf cells of Plant 2?

33 In fruit flies the presence of wings (W) is dominant to the absence of wings (W), and red eyes (R) are
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33 In fruit flies the presence of wings (W) is dominant to the absence of wings (w), and red eyes (R) are
dominant to brown eyes (r). A wingless fly that is heterozygous for eye color is crossed with a fly that is
heterozygous for wings and has brown eyes. What s the probability that the offspring would be

homozygous recessive for wings and eye color?

100%
75%
50%

25%

34 A diagram of a cellular process is shown below.

DNA
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34 A diagram of a cellular process is shown below.

Protein

Which of the following identifies the process shown at point 22

F Translation
G Translocation
H Replication

) Transcription
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35 Which of the following terms describes traits or characteristics that promote an organism’s survi
given environment?

Population variability

Allele frequency

Generation gaps

Behavioral adaptations
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Adhesion occurs when water is attracted to other polar substances. Which of the following is an example
of adhesion in organisms?

Capillary action of liquid in plant stems

Release of sweat to reduce body heat

Movement of ions to maintain homeostasis

Pumping of blood through the circulatory system

37 'The DNA fingerprint results from four dogs and a puppy are shown.

DNA Fingerprint Results
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37 'The DNA fingerprint results from four dogs and a puppy are shown.

DNA Fingerprint Results

Dog #1| Dog #2|Dog #3[ Dog #4|
Possible Fathers

Puppy

If the puppy is to be registered, the father must be known. Which of the following dogs would be
identified as the father of the puppy?

A Dog #1
B Dog #2
¢ Dog#3
D Dog #4
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In his book On the Origin of Species, Charles Darwin described how species change over time. Which of
the following is NOT part of his observations that describes the mechanisms of natural selection?

F Organisms produce more offspring than can survive

G Disease and natural disaster will limit population growth.

H Species today descended with modifications from ancestral species.

Organisms with advantages will survive and reproduce.

A teacher prepares agar for six petri dishes on which to grow E. coli bacteria. The table shows the
contents of the agar in each petri dish.
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T Organisms with advantages will survive and reproduce.

39 A teacher prepares agar for six petri dishes on which to grow E. coli bacteria. The table shows the
contents of the agar in each petri dish.

Contents of Agar

Group Petri Dish | Beef Broth Chicken Condensed
Broth Milk

Yes No No
No No No Ye
No Yes

No Yes

No Yes Yes

No No Yes Yes

Based on the information in the table, which of the following questions is the experiment designed to
test?

Can different bacteria live on agar containing proteins?

Wil agar containing salt prevent bacteria from growing?

What type of agar is best for growing E. coli?

Docs E. coli grow at different rates?
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Based on the information in the table, which of the following questions is the experiment designed to
test?

Can different bacteria live on agar containing proteins?

Will agar containing salt prevent bacteria from growing?

What type of agar is best for growing E. coli?

Docs E. coli grow at different rates?

Muscle cells contract as actin filaments slide across the surface of myosin filaments, causing the ends of
the muscle cells to pull together. This process requires energy in the form of ATP. Which process expl:
how energy is made available for muscle contraction?

Combining ADP and phosphate ions

Removing a phosphate ion from ATP

F
G Combining AMP and phosphate ions
H
J

Removing the adenine base from ATP
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Combining ADP and phosphate ions
Combining AMP and phosphate ions
Removing a phosphate ion from ATP

Removing the adenine base from ATP

41 The pH of the water in several lakes in Norway and Sweden has decreased to below 5.0, resulting in the
decline of several fish populations. The decrease in the pH is due to which of the following?
A A greater rate of ozone depletion
B An increase in acidic precipitation
C  An increase in environmental temperatures

D A rise in atmospheric carbon dioxide levels

42 A diagram of a cell is shown.

Ribosome ~ ,Cell
| membrane

Central
acuol
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D A risc in atmospheric carbon dioxide levels

42 A diagram of a cell is shown.

Ribosome Cell

Central membrane

vacuole

Endoplasmic 'Mitochondrion
reticulum

‘The cell shown in the diagram is found in which type of organism?

Bacterium
Moss
Paramecium

Yeast
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Endoplasmic 'Mitochondrion
reticulum

‘The cell shown in the diagram is found in which type of organism?

Bacterium
Moss
Paramecium

Yeast

‘Two fruit flies, heterozygous for red eye color (Rr) and yellow body color (Yy), are crossed. What is the
probability the offspring will be homozygous recessive for eye color and body color?

A
B
c
D

8/16
4/16
1716
016
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A 8/16
B 4/16
c 116
D 0/16

44 Bee venom contains acids and other compounds that cause the pain and itching from a bee sting.
Calamine lotion, which is a mild base, helps relieve the symptoms. Which best explains how the calamine
lotion relieves a bee sting?

F The calamine lotion hydrates the skin around the bee sting.
G The calamine lotion neutralizes the acids in the bee venom
H

The calamine lotion decreases the pH of the bee venom.

The calamine lotion repairs the cells damaged by the bee sting

In a biology lab, students conducted a seed-germinating experiment. They wrapped seeds in
paper towels soaked in different solutions. The paper towels were placed in separate petri
dishes and kept at a constant temperature. The setup of the experiment is represented in the
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H The calamine lotion decreases the pH of the bee venom.

J The calamine lotion repairs the cells damaged by the bee sting

45 In a biology lab, students conducted a sced-germinating experiment. They wrapped seeds in
paper towels soaked in different solutions. The paper towels were placed in separate petri
dishes and kept at a constant temperature. The setup of the experiment is represented in the
table below.

Seed-Germinating Experiment

Type of | Number | Temperature

Solution Sced | of Seeds | (in°0)

Tap water | Radish 25

1% detergent | Lettuce 25

10% detergent | Bean 25

After 7 days, the students counted the number of sceds that had germinated. Which change in
procedure would improve the experiment?

Using one type of seed for all three solutions
Decreasing the number of seeds in each paper towel
Storing the seeds in each petri dish at different temperatures

Increasing the number of days the seeds are exposed to the solutions

46 How is atmospheric nitrogen made available to plants and animals?
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1 Two safety features found in most laboratories are a safety shower and a safety fountain with two water
Jjets. What is the main purpose of the safety fountain?

A

B
C
D

To irrigate the nostrils if fumes are inhaled

To rinse the mouth if chemicals are ingested

To wash the hands if exposed to toxic material

To flush the eyes if contaminated with chemicals

2 A diagram of a food web is shown below.
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Tap-waver— | raus

1% detergent | Lettuce

10% detergent | Bean

After 7 days, the students counted the number of seeds that had germinated. Which change in
procedure would improve the experiment?

Using one type of seed for all three solutions

Decreasing the number of seeds in each paper towel

Storing the seeds in each petri dish at different temperatures

Increasing the number of days the seeds are exposed to the solutions

How is atmospheric nitrogen made available to plants and animals?

Nitrogen is transformed into nitrates by soil bacteria.

F
G Nitrogen is converted into nitrates as groundwater is filtered
H

Nitrogen is breathed in along with oxygen and discarded as nitrate waste.

Nitrogen is released rapidly by the weathering of rocks and absorbed by vegetation

GO ON
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H Nitrogen is breathed in along with oxygen and discarded as nitrate waste.

) Nitrogen is released rapidly by the weathering of rocks and absorbed by vegetation,

47  Which of the following methods will easily identify a person with XYY chromosomes?

Conducting pH testing
Constructing a pedigree

A
B
C Constructing a karyotype
D

Conducting gel electrophoresis

48 The drawing below shows a cross section of a plant leaf.

Cross Section of a Plant Leaf

:
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Conducting pH testing

A
B Constructing a pedigree

€ Constructing a karyotype

D Conducting gel electrophoresis

‘The drawing below shows a cross section of a plant leaf.

Cross Section of a Plant Leaf
Cuticle
cpidermis
Palisade
layer

Mesophyll _|
layer

Lower
epidermis

Guard cell

How does the component marked X contribute to the survival of the plant?

It allows the intake of gases necessary for photosynthesis.

It allows the intake of minerals ne

ary for plant growth

E ]

It allows the intake of sunlight necessary for ATP production.

It allows the intake of sugars nec

ary for plant reproduction.
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OO o
epidermis

Guard cell X

How does the component marked X contribute to the survival of the plant?

It allows the intake of gases necessary for photosynthesis.
It allows the intake of minerals necessary for plant growth
It allows the intake of sunlight necessary for ATP production.

It allows the intake of sugars necessary for plant reproduction.

Theodosius Dobzhansky discovered that successful species tend to have a wide variety of genes that do
not appear to be useful to the species in its present environment. What did this discovery help explain
about genetics and the changes that oceur in a species over time?

Environments with more organisms tend to have more successful species.

Species with greater genetic diversity adapt more easily to changing environments.

A
B
€ Changing environments prevent species from adapting and surviving
D

Species in a stable environment are more resistant to a changing environment

GO ON
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B Species with greater genetic diversity adapt more easily to changing environments.
€ Changing environments prevent species from adapting and surviving

D Species in a stable environment are more resistant to a changing environment

50 Which statement describes the role of flowers in plant survival?

Flowers absorb carbon dioxide for sugar production

F
G Flowers produce oxygen through cellular respiration
H

Flowers contain cells that carry out photosynthesis.

Flowers contain cells that produce gametes.

51 The data in the chart were collected during an investigaton t0 tst the relationship between pulse rates
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T FIoWers contain cells that produce gametes

51 The data in the chart were collected during an investigation to test the relationship between pulse rates
and the amount of caffeine ingested by the consumption of coffee in humans. The five subjects were the
same age, same size, and in good health.

Effects of Caffeine in Coffee on Pulse Rates

Subject | Resting | Pulse After | Pulse After | Pulse After
Pulse 60z, 12 0z. 18 oz.

68 68 72 72
76 88 92
70 74 82 86
66 70 86 90

72 72 90 94

Which of the following statements is supported by the data?

A The subjects’ pulse rates after consuming 12 oz. of coffee were the same as their resting
pulse rates.

Consuming only 6 oz. of coffee did not affect the subjects’ pulse rates.

The subjects’ pulse rates decreased after consuming 12 oz. of coffee

The greatest increase in pulse rates occurred after subjects consumed 18 oz. of coffee.
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Which of the following statements is supported by the data?

A The subjects’ pulse rates after consuming 12 oz. of coffee were the same as their resting
pulse rates.

B Consuming only 6 oz. of coffee did not affect the subjects’ pulse rates.
The subjects’ pulse rates decreased after consuming 12 oz. of coffee.

The greatest increase in pulse rates occurred after subjects consumed 18 oz. of coffee.

52 The enzyme lactase will break down the sugar lactose into which of the following components?

Monosaccharides
Nucleic acids
Amino acids

“TxTa

Phospholipids
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53 The diagram shows a proposed process in the history of evolution.

Mitochondrion
Endoplasmic
reticulum Engulfing of

Plasma acrobic 5 )
membrane | Nuclear  heterotrophic &2y Heterotrophic
civelope  Prokaryote v cukaryote

Cytoplasm
Nucleus

Prokaryote Mitochondrion Chloroplast

e
€20 Photosynthetic

w eukaryote
Engulfing of

photosynthetic
prokaryote

Which process is outlined in the diagram?

Chemosynthesis

A
B Endosymbiosis
€ Formation of early organic molecules
D

Speciation due to natural selection
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photosynthetic
prokaryote

‘Which process is outlined in the diagram?

Chemosynthesis
Endosymbiosis

Formation of early organic molecules

O 0N w >

Speciation due to natural selection

54  Which step that occurs in meiosis increases genetic variation in multicellular organisms?

Formation of tetrads
Crossing over of nonsister chromatids

Disappearance of the nuclear membrane

“TxTa

Moving of centrioles to opposite ends of the cell

55 The framework of organic molecules essential to all organisms is composed mainly of carbon atoms.
e X

s P P S
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Formation of tetrads

Crossing over of nonsister chromatids
Disappearance of the nuclear membrane

Moving of centrioles to opposite ends of the cell

The framework of organic molecules essential to all organisms is composed mainly of carbon atoms.
‘Which processes are involved in the cycling of carbon within an environment?

Photosynthesis and respiration
Evaporation and condensation

Transcription and translation

Diffusion and transpiration
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2 A diagram of a food web is shown below.

I

Grasshopper T

N S

Grass

Which organism in the food web receives the least amount of energy from the producers?

Hawk
Rabbit
Grasshopper

Mouse
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56 Hemoglobin is comprised of two alpha and two beta globin proteins. A difference in nucleotides in the
gene for the beta globin changes one amino acid in the protein. This single amino acid change causes the
red blood cells to become sickled. The picture shows normal red blood cells and sickle cells.

Normal Sickle Cells

‘Why does this single mutation cause a change in the red blood cells?

The beta globin protein is too long.

The beta globin protein is unable to function.
The beta globin protein is abnormally shaped.
The beta globin protein is destroyed by oxygen.
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57 Some characteristics of a recently discovered organism are listed in the following table.

Organism Characteristics

Eukaryotic

Multicellular

Produces spores

Can reproduce sexually and asexually

Lacks chlorophyll

Non-motile

Based on the given characteristics, this organism would be classified in which kingdom?

Eubacteria

A

B Fungi
C Plantae
D

Protista
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58 Which of the following structures demonstrates the highest level of organization in organisms?

Nerve cell
Muscle tissue
Small intestine

Endoplasmic reticulum
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59 Elk are members of the deer family. These herbivores move in herds from the high mountain pastures to
the lower valleys and wooded areas throughout the seasons. Their fur color ranges from gray to dark
brown which allows them to blend into the dense wooded areas. Natural enemies of the elk include bears,
cougars, wolves, and coyotes. The graph below shows how the number of elk in an area has changed
over time.

Number of Elk

Elk Population Size

Veard  Vead  YearS

Year

Yearl  Year2

Based on the data, one student concludes that an elk predator was introduced into the area during this
time period. Which of the following is a likely alternate explanation for the change in the elk population?

EIk prey increased in the area
EIk parasites decreased in the area.

The temperature of the area increased.

The amount of plants in the area decreased.

A
B
c
D
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C The temperature of the area increased.

D The amount of plants in the area decreased.

60 In cancer cells, mutations in the DNA cause the cells to reproduce uncontrollably, forming a tumor.
Cancer directly affects which cellular process?

Fertilization
Mitosis
Osmosis
Conjugation

61 The diagram shows a disorder of chromosome 15.

@ 3 (45
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The diagram shows a disorder of chromosome 15.

(J2]3)X4]5s 8)

@ 3 4 7 5)

Which of the following identifies the type of chromosomal mutation that has occurred?

Deletion
Duplication
Inversion

Translocation
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62 Eland are large herbivores with loose skin under the throat and neck. This patch of loose skin aids
in lowering the body temperature when temperatures are high. Eland are able to run at speeds over
40 miles per hour. They run long distances in their open environment. Eland live in large herds.

In which of the following biomes would the adaptations of the eland have the GREATEST
survival benefit?

The taiga, due to its plentiful vegetation for herbivores

E
G The grassland, because of its warm open fields for grazing

H The desert, due to its high temperatures and empty plains for running fast
J

The tundra, because of the treeless open spaces for ease in running long distances
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63  The pedigree shows the inheritance of a genetic condition in a family over two generations.

00 o o

nQJ

Key

Normal male

O Normal female

] urO Carriers
. or . Affected

individuals

Which set of numbered individuals has the greatest chance of producing a child that is affected by this
genetic condition?

1
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‘Which of these structures is responsible for transporting water from plant roots to the rest of the plant?

Chloroplast
Phloem
Stoma

Xylem
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65 The diagram shows the cycling of nutrients in an ecosystem.

Sun
Producers ———> Consumers

|

Inorganic
Nutrients

<«—— Decomposers

The removal of which of the following groups would cause an immediate decrease in the amount of

energy flowing through the system?

Producers
Consumers
Decomposers
Inorganic nutrients
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3 An unmutated segment of DNA containing 40 molecules of adenine will contain an equal number of
which of the following?

Uracil
Cytosine

Guanine
Thymine

4  Which of the following explains the role enzymes play in the process of digestion?

F They assure that digestion occurs within hours instead of days
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B Consumers

€ Decomposers

D Inorganic nutrients

66 Why are there so few plants that live at the ground level in a tropical rainforest?

The forest floor contains many decomposers
Sunlight is blocked by tall, leaf-covered plants.
Rainfall is absorbed by the flat, broad tree leaves.

“ T T

The temperature is extremely low most of the year.

67 Which of the following describes the location of the chromosomes during metaphase?

A Located in the nucleus of the cell
B Clustered at each pole of the cell

€ Tinad un alana the aanator of the call
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T The temperature is extremely Tow most of the year.

67 Which of the following describes the location of the chromosomes during metaphase?

Located in the nucleus of the cell

Clustered at each pole of the cell

Lined up along the equator of the cell
Scattered throughout the cytoplasm of the cell
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68 A diagram representing the relationship between photosynthesis and cellular respiration is shown below.

1

/
i
AN

The numbered boxes in the diagram represent which of the following?

— water; | 2 | — nitrogen

— nitrogen; | 2 | — oxygen

oxygen; [2] — carbon dioxide

— carbon dioxide; | 2 | — water

A terrestrial biome is warm year-round, averaging 24-29°C with seasonal rainfall. The dry season in
ihic hiamso_can lact sn fo nina manthe Mans xariatioc af araccoe and ceatiorod trooe ar tho
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The numbered boxes in the diagram represent which of the following?

F |1 |— water; | 2 | — nitrogen

G |1 |— nitrogen; | 2 | — oxygen

H |1 |— oxygen; |2 | — carbon dioxide
J 1 | — carbon dioxide; | 2 | — water

69 A terrestrial biome is warm year-round, averaging 24-29°C with seasonal rainfall. The dry season in
this biome can last up to nine months. Many varieties of grasses and scattered trees are the primary
producers. Which of these animals are MOST common in this biome?

A Hibernating mammals
Tree-dwelling mammals

Small nocturnal mammals

o N w

Large herbivorous mammals

70 Students are instructed to stain onion cells with an iodine solution prior to observing them with a
microscope. During the procedure, a student finds an unlabeled bottle of an amber-colored solution at a
lab station. What should the student do about the unlabeled bottle of solution?

PRV TN £a 1 N £owmnal
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producers. Which of these animals are MOST common in this biome?

Hibernating mammals
Tree-dwelling mammals
Small nocturnal mammals

Large herbivorous mammals

Students are instructed to stain onion cells with an iodine solution prior to observing them with a
microscope. During the procedure, a student finds an unlabeled bottle of an amber-colored solution at a
lab station. What should the student do about the unlabeled bottle of solution?

Move the bottle to a safe place, so that it is out of reach

Place the bottle on the supply table, since iodine is amber-colored
Inform the teacher about the bottle with the amber-colored solution

Pour the solution from the bottle down the drain with plenty of water

STOP

@ Unknown Zone | Protected Mode: On




image4.png
15526084_MSBioTBL.pelf

Norton - |[Search || (@ Sefewieb~ @ WenttySafe~

%5 &) Suggested Stes v ] Web Slice Gallery v &) Karsoke (@) ORNL 76 Mrs.Gay 5 WikiZila (5] Teschers' Domsin Home £ Grant Wrangler K-12 Scho.. ] Grant Program - myCamp... % The Bology Comer § eCampus Login g M. Tumer

i Favorites | @ http://www.mde.k12.ms.us/acad/osa/Science Pr... f - B - = @ v Pagev Safety~ Toos~ @~ &

BEL G e[ /0 eem - o [ [ -

3 An unmutated segment of DNA containing 40 molecules of adenine will contain an equal number of
which of the following?

Uracil

Cytosine

Guanine

U N w@ >

Thymine

4  Which of the following explains the role enzymes play in the process of digestion?

They assure that digestion occurs within hours instead of days.
They improve the peristaltic movement of the intestines during digestion.

They increase the amount of acid released from the stomach.

“Ta T

They prevent lipids from being absorbed into the blood stream.

5 What is the main function of a vacuole?
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4  Which of the following explains the role enzymes play in the process of digestion?

They assure that digestion occurs within hours instead of days.
They improve the peristaltic movement of the intestines during digestion.

They increase the amount of acid released from the stomach.

“Ta T

They prevent lipids from being absorbed into the blood stream.

5 What is the main function of a vacuole?

Storage of water
Synthesis of energy
Replication of DNA

Formation of proteins

U N w@ >

6 Which of the following introduces carbon dioxide into the carbon cycle?
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